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uksV& lHkh iz'u gy dhft;sA

Attempt all questions.

[k.M (v)

Section A

1. iq#"kksa ,oa fL=;ksaa ds ,d lewg esaa mudh vkSlr vk;q 30 o"kZ gSA ;fn iq#"kkssaa dh vkSlr vk;q 32 o"kZ

rFkk fL=;ksa dh vkSlr vk;q 27 o"kZ gks rks lewg esaa iq#"kksaa vkSj fL=;ksaa dk izfr'kr Kkr djksA 13/16

The mean age of a combined group of men and woman is 30 years. If the mean
age for the group of men is 32 and that of women is 27, find out the percentage
of the men and women in the group.

2. Js.kh 12, 22, 32, ..... , n2 ds fy;s ek/; izlj.k o ekud fopyu Kkr djksA 13/17

Calculate mean, variance and standard deviation for the series 12, 22, 32, .....n2.
3. x dks LorU= pj ekudj fuEu vk°dM+ksa ij ,d ljy js[kk dk vklatu djksμ 14/17

x   0  1  2  3  4
y 1.0 1.8 3.3 4.5 6.3

Fit a straight line to the following data regarding x as the independent variable—

x   0  1  2  3  4
y 1.0 1.8 3.3 4.5 6.3

P.T.O.
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[k.M (c)
Section B

4. rk'k dh xÏh esa ls nks rk'k ;kn`PN;k [khaps tkrs gSaA izkf;drk Kkr dhft;s fd ;s nksuksaa rk'k dkys jax
ds ;k nksuksaa bDds gSaA 13/16
Two cards are drawn at random from a pack of cards. Find the probability that
both these cards are black colour or both are aces.

5. ;fn fdlh flDds dh pkj mNkyksaa esa x 'kh"kks± dh la[;k gks rks x ds izR;kf'kr eku dh x.kuk djksA
iqPN dh la[;k ds izR;k'kk ds ckjs essaaa vki D;k dg ldrs gSa\ 13/17
In four tosses of a coin, let x be the number of heads. Calculate the expected
value of x. What can you say about the expectation of number of tails ?

6. ,d f}incaVu dk ek/; vkSj izlj.k ÿe'k% 4 vkSj 
4
3

 gSA Kkr dhft;s % (i) 2 lQyrkvksa dh

izkf;drk] (ii) nks ls vf/kd lQyrkvksa dh izkf;drk] (iii) 3 ;k 3 lss vf/kd lQyrkvksaa dh
izkf;drkA 14/17
The mean and variance of a Binomial distribution are 4 and 4/3 respectively.
Find (i) the probability of 2 successes, (ii) the probability of more than 2 successes,
(iii) the probability of 3 or more than three successes.


